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Write the appropriate answer in the blanks.
Texting while driving is called

"Two more so tenderly complete" :
The underlined word means

(a) resentful feelng

(b) gentle and caring feeling

(c) awkward feeling

(d) sentimental and sensible feeling
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Write a single word for the group of words.
"Expresson of popular appreciation for someone's
masterly performance".

What is the 'verb' form of "commutation"?

Supply the correct form of the verb given in the
bracket.

His health condition
day. (worse)

The man who robbed you has been arrested. Write
the subject ofthe sentence.

day by

She lives
correct preposition)
The shoes kept on the stand are mine. (Write the
post modifier)

her pen. (supply the

When was a child, I would spend hours playing
with my dolls. (Rewrite the sentence with correct
equivalent of'would').

You

(Write a negative compulsion using a modal verb)

(Aud)-(A'nA4)=6a60? @:

shout in the examnation hall.
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